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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

—&— PHO

7.4 A

7.2 A

7.0 A { { 00000009090 0000090
6.8 -

6.6 - Warning: col FVOPH ] is missing

® ®
0 10 20 30 40 50 60 70

d




Trend plot forP3-13 0
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P3-13

BfiE) | EBIATK (FD) | ERE (EA/4) | BEREE(B/R) | XS AR

07:10 300 150.0 2.888 [Z=| ThHA@O7:10 kENFEF (KRAMEEER)
07:40 300 150.0 2.888 [(Z=| FhHA@O7:40 KENFEF (CGRA{EEEE)
08:10 300 150.0 2.888 (Z=| 7FhHA@O8:10 kENFEF (kA{fEEE)
08:50 300 150.0 2.888 (£ =| FmHA@O8:50 KENFEF (RA{EEEE)
09:30 300 150.0 2.888 [(Z=| FMHA@09:30 KENFEF (RA{EEIEE)
10:05 300 150.0 2.888 [Z=| FhHA@10:05 kENFEF CRAfEEER)
10:40 300 150.0 2.888 [(Z=| ThHA@10:40 kENIEF CRAHEEER)
11:10 300 150.0 2.888 |Z x| TiHAe11:10 KREIEF (RAMEEE)
11:40 300 150.0 2.888 |Z=| TiHHe11:40 KEIEF (RAAEESE)
12:10 300 150.0 2.888 (£ =| FaHA@12:10 KENFEF (CRA{EREEE)
12:40 300 150.0 2.888 (Z=| ThHA@12:40 KENIEF (CGRA{EEEE)
13:10 300 150.0 2.888 |Z=| iHBe13:10 KEIEF (RAAIERSE)
13:40 300 150.0 2.888 |Z=| FmHA@13:40 KEFEF CGRABERE)
14:10 300 150.0 2.888 (Z=| ThHA@14:10 KENIEF CRAB{EEEE)
14:40 300 150.0 2.888 [(Z=| FhHA@14:40 KkENIEF CGRA{EEEE)
15:10 300 150.0 2.888 (£ =| FaHA@15:10 KENFEF (RAB{EREEE)
15:45 300 150.0 2.888 (£ =| ThHA@15:45 KENIEF CGRA{EEEE)
16:25 300 150.0 2.888 [(Z=| FhHA@16:25 KENFEF (RA{EREER)
17:10 300 150.0 2.888 [£=| FaHA@17:10 KENFEF (CRA{EEER)
=23t]5700.0 (19%) 2850.0 3EHKEC: 2080.0, PH: 5.6

[@;KEC 6867.0 K&, EILFAKECHE&idEER
7 ERECE (1803. 0 vs 6867.0) 145
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P3-13_0, Day=73 (2025-06-12)
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P3-13

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:45 283 150.0 2.888 5| {BRige07:45 B3 (RPERKSE)
08:15 283 150.0 2.888 BE| {Ri&e08:15 Bz (REAEHE)
09:00 283 150.0 2. 888 RS {Ri%@09:00 Bz (REERSE)
09:35 283 150.0 2.888 BE| {Ri8&e09:35 Bl (REAEESE)
10:05 283 150.0 2.888 BE| Ri&@10:05 Bzl (REAEHE)
10:35 283 150.0 2. 888 e {Ri8@10:35 Bz (REAERSE)
11:05 283 150.0 2.888 el Rige11:05 Bal (REERESE)
11:35 283 150.0 2.888 sl Rige11:35 Bz (REAERE)
12:10 283 150.0 2. 888 B Rige12:10 Bzt (REAERE)
12:45 283 150.0 2. 888 | Rige12:45 Ba (REAEESE)
13:20 283 150.0 2.888 | Ri%@13:20 Bz (REAERESE)
13:55 283 150.0 2.888 BS| 1Ri%e13:55 Bz (GREMEESE)
14:30 283 150.0 2.888 el Rige14:30 Bah (REEESE)
15:10 283 150.0 2.888 el Rige15:10 Ba) (REAEHSE)
15:50 283 150.0 2.888 BE| 1Ri%e15:50 B (GREMEESE)
16:40 283 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[E&EC 7487.0 K5, EiYF{KECAE&HikER
HEERECE (1847.0 vs 7487.0) 15

139.0), FIEEHT—@E XA HS




P3-13_0, Day=72 (2025-06-11)
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P3-13

BflE) | GEBRTK (B)) | ERE (EA/) | EREE (/R | XS SRR

07:10 283 150.0 2. 888 i BRi&@07:10 Bz (RPB{EEE)
07:50 283 150.0 2. 888 RS B21%@07:50 Bzh (RFATRES)
08:25 283 150.0 2. 888 5 B21%@08:25 Bzh (FAERSE)
09:05 283 150.0 2. 888 i B31%@09:05 Bz (KRPBIERE)
09:45 283 150.0 2.888 5 B218@09:45 Bzh (FRFARESE)
10:30 283 150.0 2. 888 5 B21%@10:30 Bzh (GAERESE)
11:05 283 150.0 2.888 R BRige11:05 Bzl (GRPFERESE)
11:45 283 150.0 2.888 5 Bige11:45 Bzh (RFAKRESE)
12:35 283 150.0 2. 888 5 Bi%@12:35 Bzh (GRAERESE)
13:15 283 150.0 2. 888 R BRige13:15 Bzl (GRPEEE)
13:50 283 150.0 2.888 5 B218@13:50 Bzh (RAEESE)
14:35 283 150.0 2. 888 iS5 B2i%014:35 Bzh (RAKRESE)
15:20 283 150.0 2.888 5 B1%@15:20 Bzh (GRAERESE)
16:10 283 150.0 2.888 i Bi8@16:10 Bzh (RAEESE)
17:10 283 150.0 2. 888 Bl FiTe17:10 B3 CGRBERESE)
Bit| 4245.0 (15%%) 2250.0 3 F%EC: 2080.0, PH: 5.6

FEREHEME STEAERST (184.0 : 142.0), AIEEAT—@E XAHAE5
BRINSLEREBE142.0 ml.

EI/&EC 8020.0 K7, HELFRECARIA M EMR

B FRECE (1887.0 vs 8020.0) it/



P3-13_0, Day=71 (2025-06-10)
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2it|2547.0 (9%) 1350. 0 B REC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

BRIASKPRERE139. 0 ml. B
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139.0), FIEEHT—@E XA HS
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15:50 283 150.0 2.888 BE| 1Ri%e15:50 B (GREMEESE)
16:35 283 150.0 2. 888 S| 1Ri%e16:35 B (RF{EREE)
23t 4528.0 (16)%) 2400. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAEBRERE139. 0 ml.

[B&REC 7577.0 K5, EiYF{KECAE&HikER
HEERECE (1927.0 vs 7577.0) 5

139.0), FIEEHT—@E XA HS
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